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Candidates must write the Code on

the title page of the answer-book.

ìX 8 Yõk�ZkÎZwÆ6,d~|ƒñ,]Å®ZŠ �

¤̈DÃ6,pÆZz6,ŠZN§sÖÃe��Z!»8ÆZz6,~™6,rìX �

ìX 27 Zk6,p~|ÎZÑ]Å®ZŠ Yõk� �

rrrrÑÑÑÑzzzzqqqq™™™™ääääÐÐÐÐ¬¬¬¬6666,,,,ppppÆÆÆÆ____....ÎÎÎÎZZZZwwww»»»»ŸŸŸŸ��������ZZZZ!!!!»»»»8888~~~~ssssXXXX ±±±±ggggöööö LLLLÎÎÎÎZZZZwwww»»»»����ZZZZ[[[[ �

10.15 W„HYñÇX 10.15 4»z‰ÜŠc*ŠHìXÎZwÆ6,pÃð 15 ÎZw»6,p7,"Æa �

J-CYÜs6,p7,³ÐZzgSkz‰ÜÆŠzgZyCY6,pÆÎZßVÆ�Z[™Ñzq W 10.30 Ð

7™MhX

� Please check that this question paper contains 8 printed pages.

� Code number given on the right hand side of the question paper should be written on the

title page of the answer-book by the candidate.

� Please check that this question paper contains 27 questions.

� Please write down the serial number of the question before attempting it.

� 15 minute time has been allotted to read this question paper. The question paper will be

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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ÀÀÀÀòòòò3333ååååXXXXLLLLZZZZcccc****]]]]::::

6,ŒìXW\ÃŠzâV8{ð OVÆÎZÑ]Æ�Z[Š¶�X B Zzg A t6,pÎZÑ]Šz8{ð OV (i)

ÎZÑ]Ñiò�X ÓÓÓÓxxxx (ii)

Æ�Z[e{e{™�X B Zzg8~î O A 8~î O (iii)

��Zy~ 5 ÔÔÔÔ5 ÎZÑ]~ZzgXÎZßVÆ 3 ��Zy~Ð 3 ÔÔÔÔ3 ÆXÎZßVÆ A 8~î O (iv)

ÆZq-ÎZw~Z0+gzãZ(gŠc*ŠHìX B ÎZÑ]~Z0+gzãZ(gŠc*ŠHìX8~î O 2Ð

~™�X ZZZZqqqq----¿¿¿¿ c* ZZZZqqqq----ÂÂÂÂ �ìXZyÆ�Z[ ZZZZqqqq----ZZZZqqqq---- » 2 ZzgÎZw 1 ÆÎZw A 8~î O (v)

ZÖp6, 30 ��XZy~ÐCÙÎZw»�Z[ 2 ~ÐCÙÎZwÆ 5 @*ÎZw 3 ÆÎZw A 8~î O (vi)

Œƒ**ecX
ZÖp 50 ��XZy~ÐCÙZq-ÎZw»�Z[ 3 ~ÐCÙÎZwÆ 15 @*ÎZw 6 ÆÎZw A 8~î O (vii)

6,Œƒ**ecX
70 ��XZy~ÐCÙZq-ÎZw»�Z[ 5 ~ÐCÙÎZwÆ 21 @*ÎZw 16 ÆÎZw A 8~î O (viii)

ZÖp6,Œƒ**ecX
��XZy~ÐCÙZq- 2 i'gÂV6,FF�ZzgCÙZq-ÎZwÆ 27 @*ÎZw 22 ÆÎZw B 8~î O (ix)

»�Z[¿UŠbìX

A 8888~~~~îîîî OOOODDDD

�wäæÆE7Š}aZzg1ä7Š}aZzgZyŠzâVÆ‚B±Z‚ÛZöÅˆXTÐ# .1

1 ~Hx@{H? F
1

z�Š~Wc*XZkä#7Š} F
1
7ŠZ

1 §»C’)!*-’(ÆŠzZbZñF,0ÌÆ**xÉÀŸ/õGX .2

ŠârÆZ8zõ Oºm»ñVÐÝ�XŠârÆZy8{ð OVÆ**xÉÀŸ/õG�qgzfs»x™D�: .3

ù½Yä»ZˆkŠÑ** (a)

ZyW** (b)

Ë"54hÿ FGEÃZV** (c)

2 ‚¡`** (d)
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Z¼ZyƒD�X»g0ZVÆfg)¾nÆ%·]ú0*Mh 4 »g0Æ¤/ÄæZgd~ .4

2 �ZzgYV?ÃðZq-Vw7ÙX

ÆÃA6,ÃðÚg¿ˆX“WzZà]4->î IEGX»£x 40 cm ¯ÀMðÆZq-!© ç
GWsÆ‚t 20 cm .5

2 ZzgT¥xÙXZkßg]~]4->î IEGXÅúŠ3CƒðÃqeZÂZxUX

Hì?',@~ÑƒñË7Š}ÅµZgng°ZzgtZgng°Š3Cƒð (Geotropism) Zgng° .6

3 fÅƒðeZÂZxUX

ŠgCz‚b»0*GZgZOxHì?ZkÅYV¢zg]ì?Šz!*g{ZEwZzg!*i‚¡~Ð .7

3 W\¾6,¿™,ÐZzgYV?

3 Zõ!Zz™sH�?¬xîgÐtZz™s±Šg±zgZV$~YVv7ƒ'?zŸs#ÙX .8

qgzfsu–5v.{Ù: .9

3 Z#JÈƒÔA$zz«¢aZzgZ*¢aÅgi+8-HƒVÏ?ZL�Z[ÃŠg„U*"$™äÆazzC�X

cccc****

Z»ðÃÙXËŸzZg',¹ SI HƒCì?ZkÅ (Electrical resistivity) ',¹â¦'×ZØ

ìÔZ¤/@*gÅMðŠt™ 100 mA u–~Ô�ŠJC@*gÆ¶'×Z9+õ6,ŒìÔZ*¢aÅgi+8-

Š~YñÂu–~™.$¾îg6,$+áÇ?ZL�Z[Æh~Š?7ÙX
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%6Ë§uZŒeZÑ 2 mL k̂Îe*³gZ[+1ŠHZzgZk~ 1 g Ë™sZzgÎ¿Yõ"~ .10

ŠHXå3zZà’Å¬ÎÇZzgQ4Yw»½ÐYõÅˆX¾ßg]~w»½»g8-
$+áÇZzgYV?ZL�Z[ÆazzC�Xå3zZàÇkÆ!*g}~H³Z~.HYYì?

3 ZL�Z[Å¤&¬ïÅ6ð)zZ]Æfg)ÙX

cccc****
U¯äÆaP~`s)"5½5ë EGE

Y
0*îeg(ZEwHY@*ìXZ¤/W\ÅzZ−{y~U (a)

ZEw™,ÔÂUÆ'×}6, (Baking Soda) ¯äÆaP~`sÅ(3ä»ÎeZ

HZW,7,}ÇZzgYV?
3äÆÎeZÃP~`s~ùpsHYYì? (b)

Ãy¯@*ì? (spongy) UÃ5ìZzg)æZg (c)

ìX ` 6.00 qgzfs',¹WÑ]ÃmÆ¹~`äÅ7¥xÙÔ²ðÅZq-Z»ðÅÑb .11

] 5 Æ',¹‘ÃgziZ: 1000 W (i)

3 ]gziZ:‰ 10 ÆgeµñÃ 400 W (ii)

Ôö8Ô»½z){°äÆ (fossil fuels) !*[LLøgZâjwóó7,JDƒñZ*Šäg»i~Zgï .12

vyŠ{ZW,Z]6,izgŠc*X¤̈9VäCkH�gzi%{Åi0+Ï~ö8Zzg7
É4-£4è GGGE»¹ic*Š{

ZEwHY@*ìÔTÐXc*YYìZzgâjwÃ™sg3YYìXZ,VäêH�z{ZL
ZjwÃLLö8Zzg7

É4-£4è GGGEóóÐ!*Ç™sgOÐZzgZq-Šzu}Åj,Z‚ÛZðÅ�z{Zy»ZEw

ÁÐÁ™,X
gziZ:i0+Ï~ö8Zzg7

É4-£4è GGGE»ZEwÁÐÁYV™**ec? (a)

ZLZjw~CYö8Zzg7
É4-£4è GGGEÆZEwÐÁ§hVÐ$Mh�? (b)

3 ZLŸ6,¿™äÆaZ,VäZq-Šzu}Åj,Z‚ÛZðùÅƒÏ? (c)

~MnO
2
 + 4HCl → MnCl

2
 + 2H

2
O + Cl

2
¬ï: .13

¾%“Å‰ƒCìZzg¾ÅAs (a)

3 ZkãCŠ6,‰ZzgAsÅ°pÙX (b)

47/3 4 C/1



Hƒ@*ìZ#òÅñ�ŠÏ~;àgzXÃm@*C%~#áÀHY@*ì?¬ï»**xÉÀŸ/õGZzgm@*C .14

3 %ZzgZk¬ï~qÝƒäâ°Å8{¤~Zq-�ÛtÉ»4/õ GGXZk¬ï~$¹ÿ
EL»gzwÉÀŸ/õGX

ÆÃA6,g²�õ Oƒñ6,Š{6,Ô)z~‚,̂ÅZy]4->î IEGX 4 m ëeT��Ëñx#-ö EGOÅßÅÔZkÐ .15

qÝƒX

Zk¾»**xC��…ZEw™**ecX (a)

Zk¾Å¯ÀMðXƒãecZzgñx#-ö EGOÅßÐ¾ÃÄÃA6,ǵec? (b)

3 Zkßg]~]4->î IEGXÅúŠ3äzZàfÅƒðeZÂZxUX (c)

cccc****

DÃðÚg¿ƒðìX“WzZà 5 cm ÆÃA6, 30 cm ¯ÀMðÆZq-ö[WNWÐ 15 cm

]4->î IEGX»£xÔ‚,̂ZzgT¥xÙX

ïFyZãèoH�?yZãèoZEw™DƒñÔËïFyZyÆËy6, (a) .16

ïFyZyÅ‚ù¥xÅYCì?
~™.$psHYñÔ X Zq-Šzu}ÆŒÛd$g²�õ O‰XZ¤/ŠZ],~

ÄA�õ FO Y Zzg X ŠzŠZ],~
ÄA�õ FO (b)

~7V™.$»Zâ!ƒÇ?zzC�X Y H
ÄA�õ FO

5 L¡Í-.5ë
E

GEY»ŠZN;B»çóÒyÙX (c)

I¦ìX (anaerobically) z{¬ïÉÀŸ/õGZ#‰ÃiÔP~)ƒZ!*lîg6, (a) .17

z{}4,xÉÀŸ/õGTÆfg)MV0*ã~‚÷g�X (b)

µzV~0*ðYäzZà½g}ú‚|#»**xÉÀŸ/õGZzgZkÆŠz»ñVÅz„¯�X (c)

5 [g3`»**xÉÀŸ/õGZzgZK̈âV~Zk»gzwÉÀŸ/õGX (d)

cccc****

CÙ}7ŠzV~0*ñYäzZá´tÆ¿»**xÉÀŸ/õGZzgZkÅ©VÅzŸs#ÙXZk¿ (a)

ÆaÃyÏ{xZâYŠg»gƒC�?Zk¿Å6ð)zZ]ÉÀŸ/õGX

Zk¿ÆŠzgZyƒäzZá&zZu]ÉÀŸ/õGX (b)
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].zwÅ^~Z+Á„&{�VÅz„¯�ÔXÅãCŠ6,ŠJÂVZgZŠJÂV~�Ût (a) .18

HYnX

5 ßìÃi8-•ÐXäÆŠz§jÉÀŸ/õGX (b)

(Hì?ZkÅzzC�XZkÅZ&bùÅYCì? Presbyopia 6,òÇ\)ŠzgÃ~ (a) .19

5 ZZ
Å{-

÷EÎg`ÑwúYVŠ3ðŠêì?fÅƒðeZÂZxÅæŠÐzŸs#ÙX (b)

pHì?ËW!*Š~~pùaZHY@*ì?Ëâq~paZƒäÐZkÅ’~ (a) .20

ZŸ†ùƒ@*ì?

zŸs#Ù�z{	t�Qîg6,Â6™D�ZyÆzZ−+ZzgZzÑŠ~™zñizxÅ®ZŠ (b)

5 7VYVƒCì?

].h+Šzg~].zw~ËŠzg~!*NÐŠZNw•™ä~ÁÜÅqgzfs{�VÆ~yÅ .21

zŸs#ÔŠÑbÆ‚BÙ:

¤/Ä~p~ (a)

ZbÛ¢~p~ (b)

ŠJCÐZŠJC™ŠZg (c)

',¹t™ŠZg (d)

5 W‚[+zVÅT (e)

cccc****

�;ÅÁÜÅŠgzÈ~ÅZ‚kH¶? (a)

�;ÆŠzg~].zwÅŠz”1çVÅz„¯�X (b)

Z,Šzx@Z]Åz„¯�2Vä�;ÆŠzg~‡âyÃUC7ÅX (c)
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B zzzzDDDD

Å{�V (ethanoic acid) ËZjwÅŠ/Ç{~¤̈D¼Š!*]ÅæŠÐZ#-£é GGâSu!Z[ .22

2 »_·™gì�Xz{ZkÅ!Z!TÅYõù™Mh�?ŠzYTÉÀŸ/õGX

2 P~¿Â6ÃŠ3CƒðeZÂZxoƒF,KM~UX .23

W\Æ0*kqgzfs‚âyì: .24

ÔZq- (Rheostat) »Zq-'×Z¶ÔZq-JÔZq-g·Ã 20 Ω Ô(0-3V) Ôzz«¢a (0-1A) Zq-Z*¢a

�häzZá@*gX 7 Åš~Zzg 3V

»'×Z¶~Ð¦/gDƒñ (V) Zk‚âyÃZEw™DƒñÔ'×Z¶ÆuzVÆŠgxy¸{�Ût

2 6,Z®g»_·™äÆau–eZÂZxUX (I) ™.$

újÅ]ÿ LÐ¦/gCƒðgzÝÅÃq»gZ3F,®™DƒñË¤̈DäZL l .25

ÉÅƒVÂŠzâV 50° Zzg 40° ÅŠzŠg,Ô ∠i x@Z]Å].zw»gÅXZ¤/ZkäZLŠ"~

2 ÅŠg„Šg,HƒVÏ? ∠r Zzg ∠e ~ÐCÙZq-ßg]~

cccc****

Æ 25 cm ¯ÀMðÆö[¾Ð]4->î IEGXÅúÅÃqeZÂZxU²Ú¾Ð 15 cm

ìÂ“WzZà]4->î IEGX»‚,̂¥xÙX 4 cm ÃA6,g¿ƒðƒXZ¤/Ú»‚,̂

wÆŠzgZy»g0eZðW‚[+Æ{g̀ƒä»_·™äÆŠ!*C‚ây)ÃLZ\(ÅfÅƒð .26

2 eZÂZx¯�X
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0*ã~Ìð™äÅ (hard) ZzgJ (soft) ËZjwÅŠ/Ç{~LLZq-™0Æ%äÅ3,x .27

&¢A»»©_·™äÆaóóJ0*ã»%:Šø7[7ìX9Æ0*ã~Š/Ç{ÐÃy‚

##áïHYñ�z{J0*ã~psƒYñ?ZkŠ"~™0ÅÌð™NhÅ&¢A»

2 £¨ùHYñÇ?

__________
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
SCIENCE 

 

   :  3     :  80 
Time allowed : 3 hours Maximum Marks : 80 
 

 

 Series : TYM/C 31/3H$moS> Z§. 
Code No.  

   -  - 
    
Candidates must write the Code on 
the title page of the answer-book. 

SET – 3 

       -    12   

 -            -  -    

       -  27    

         ,       

  -     15        -     10.15  
   10.15   10.30     -         
-       

 Please check that this question paper contains 12 printed pages. 

 Code number given on the right hand side of the question paper should be written on the 
title page of the answer-book by the candidate. 

 Please check that this question paper contains 27 questions. 

 Please write down the Serial Number of the question before attempting it. 

 15 minute time has been allotted to read this question paper. The question paper will be 
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 
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  : 

 (i)  -   , -  -,             
  

 (ii)      
 (iii)  -  -      -       

(iv)  -      ,                
      

(v) -    1  2 -              
  

 (vi) -    3  5 -         30      
 (vii) -    6  15 -         50      
 (viii) -    16  21 -         70      
 (ix)  -    22  27     -        

     
  

 

General Instructions :   

 (i) The question paper comprises two Sections, A and B. You are to attempt both the 
sections.  

 (ii) All questions are compulsory. 

 (iii) All questions of Section A and Section B are to be attempted separately. 

 (iv) There is an internal choice in three questions of three marks each, two questions of 
five marks each in Section A and in one question of two marks in Section B. 

 (v) Question numbers 1 and 2 in Section A are one-mark questions. These are to be 
answered in one word or in one sentence. 

 (vi) Question numbers 3 to 5 in Section A are two-marks questions. These are to be 
answered in about 30 words each. 

 (vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be 
answered in about 50 words each. 

 (viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be 
answered in about 70 words each. 

 (ix) Question numbers 22 to 27 in Section B are based on practical skills. Each 
question is a two-marks question. These are to be answered in brief. 

 



31/3 3 C/1 

 –   
Section – A 

 

1.                 F1     

   F1     ? 1 

Mendel took tall pea plants and short pea plants and produced F1 progeny through 

cross-fertilisation. What did Mendel observe in the F1 progeny ? 

 

2.  ( )        1 

Name two constituents of biogas. 

 

3.                    

      

 (a)       

 (b)  ( )  

 (c)     

 (d)   2 

Different parts of brain are associated with specific functions. Name the part of 

human brain which perform the following functions : 

 (a) Sensation of feeling full 

 (b) Vomiting  

 (c) Picking up a pencil 

 (d) Riding a bicycle 

 

4.                    

 ?        2 

Carbon has four electrons in its valence shell. Which type of compounds can be 

formed by carbon atom and why ? Give any one example of such compounds. 
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5.   20 cm         40 cm        
                  2 

An object is kept 40 cm in front of a concave mirror of focal length 20 cm. Find the 
position and nature of the image. Draw a ray diagram to show the formation of image 
in this case. 

 

6.     ?           
     3 

What is geotropism ? Draw a labelled diagram of a potted plant showing positive 
geotropism and negative geotropism. 

 

7. “    ”   ?     ?    

       ? 3  

What is “Sustainable Management of Natural Resources” ? Why is it necessary ? 

Which one out of reuse and recycle, would you practise in your daily life and why ? 

 

8.      ?           ? 
    3 

What are acquired traits ? Why are these traits generally not inherited over 
generations ? Explain.  

 

9.          

  
    ,         ?       

    3 
 

      ?  SI         , 
        ,    100 mA       
     ,          ?     
   
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Consider the following circuit : 

  
 What would be the readings of the ammeter and the voltmeter when key is closed ? 

Give reason to justify your answers. 
OR 

 What is electrical resistivity ? Derive its SI unit. In a series electrical circuit 
comprising a resistor made up of a metallic wire, the ammeter reads 100 mA. If the 
length of the wire is doubled, how will the current in the circuit change ? Justify your 
answer. 

 

10.       1g      2 mL   
                    
     ,              ?  
                 ?   
        3 

 
(a)                   

          ,         
    ? 

 (b)             ? 
 (c)         ? 

1 g of solid sodium chloride is taken in a clean and dry test tube and 2 mL of conc. 
sulphuric acid is added to it. If the gas evolved is tested first with dry and then with 
wet blue litmus paper, in which case will the litmus paper change colour ? Give 
reason for your answer. What inference can be drawn about the nature of the evolved 
gas ? Support your answer with chemical equation for the reaction. 

OR 

 (a) For the preparation of cakes, baking powder is used. If at home your mother 
uses baking soda instead of baking powder, how will it affect the taste of the 
cake and why ? 

 (b) How is baking soda be converted into baking powder ?  

 (c) What makes the cake soft and spongy ? 
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11.                

       ` 6.00    

 (i) 1000 W     5  

 (ii) 400 W     10  3  

Calculate the total cost of running the following electrical devices in the month of 

September, if the rate of 1 unit of electricity is ` 6.00. 

 (i) Electric heater of 1000 W for 5 hours daily. 

 (ii) Electric refrigerator of 400 W for 10 hours daily.  

 

12.   ‘ ’          , , 

                   

                 

                           

“    ”    -           

      

 (a)              ? 

 (b)              ? 

 (c)         -       ? 3 

While teaching the chapter “Our Environment” the teacher stressed upon the harmful 

effects of burning of fossil fuels, plastic, paper etc. The students noticed the extensive 

use of plastic and polythene in daily life, which can be avoided and the surroundings 

can be kept clean. They decided to make their school “plastic and polythene” free and 

motivated each other for its minimum use. 

 (a) Why should the use of polythene and plastic be reduced in daily life ? 

 (b) In what ways the students would have avoided the use of plastic and polythene  

in their school ? 

 (c) How the students would have motivated each other for the success of their 

decision ? 
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13.    :   

  MnO2 + 4HCl  MnCl2 + 2H2O + Cl2 

 (a)         (i) , (ii)     
 (b)           3 

In the reaction : 

  MnO2 + 4HCl  MnCl2 + 2H2O + Cl2 

 (a) Name the compound (i) oxidised, (ii) reduced. 
 (b) Define oxidation and reduction on its basis. 
 

14.                  ?  
                
                3 

What happens when hydrogen is added to a vegetable oil in the presence of nickel ? 
Name the reaction and write one difference between the physical property of the 
vegetable oil and the product obtained in this reaction. Write the role of nickel in this 
reaction. 

 

15.              4 m     
        

 (a)              
 (b)                   

  ? 

 (c)              3 
  

 5 cm    15 cm         30 cm      
    ,       
We wish to obtain an equal sized inverted image of a candle flame on a screen kept at 
distance of 4 m from the candle flame. 

 (a) Name the type of lens that should be used. 

 (b) What should be the focal length of the lens and at what distance from the candle 
flame the lens be placed. 

 (c) Draw a labelled diagram to show the image formation in this case. 

OR 

 A 5 cm tall object is placed at a distance of 30 cm from a convex mirror of focal 
length 15 cm. Find the position, size and nature of the image formed. 
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16. (a)       ?           
           ? 

 (b)    ‘X’  ‘Y’ -        ‘X’   
    ,    ‘Y’      ?    

 (c) ‘    ’   5 

(a) What are magnetic field lines ? How is the direction of magnetic field at a point 

in a magnetic field determined using field lines ? 

 (b) Two circular coils ‘X’ and ‘Y’ are placed close to each other. If the current in 

the coil ‘X’ is changed, will some current be induced in the coil ‘Y’ ? Give 

reason. 

 (c) State ‘Fleming’s right hand rule”. 

 

17. (a)                  

 (b)          

 (c)                  

  (d)             5 

      

 (a)                   

              
   

 (b)            

(a) Write the reaction that occurs when glucose breaks down anaerobically in 

yeast. 

 (b) Write the mechanism by which fishes breath in water. 

 (c) Name the balloon likes structures present in lungs. List its two functions. 

 (d) Name the respiratory pigment and write its role in human beings. 

OR 

 (a) Name the process and explain the type of nutrition found in green plants. List 

the raw materials required for this process. Give chemical equation for the 

mentioned process. 

 (b) Write three events that occur during this process.  
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18. (a)                 

         

 (b)           5 

(a) List in tabular form any three chemical properties on the basis of which metals 

and non-metals are differentiated. 

 (b) State two ways to prevent the rusting of iron.  

 

19. (a) -    ?            ?  

(b)          ?       

   5

(a) What is presbyopia ? State its cause. How is it corrected ? 

 (b) Why does the Sun appear reddish early in the morning ? Explain with the help 

of a labelled diagram. 

 

20. (a)    ?          ?    

          ? 

 (b)                  

     ? 5 

(a) What is variation ? How is variation created in a population ? How does the 

creation of variation in a species promote survival ? 

 (b) Explain how, offspring and parents of  organisms reproducing sexually have the 

same number of chromosomes. 
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21.                     

         -  

 (a)    () 

 (b) -   

 (c)     

 (d)  - 

 (e)    5 

    

 (a)          ? 

 (b)            

 (c)                   

Explain giving justification the trends in the following properties of elements, on 

moving from left to right in a period, in the Modern periodic Table. 

 (a) Variation of valency. 

 (b) Change of atomic radius. 

 (c) Metallic to non-metallic character. 

 (d) Electronegative character. 

 (e) Nature of oxides. 

OR 

 (a) What was the basis of Mandelẽev’s classification of elements ? 

 (b) List two achievements of Mandelẽev’s periodic tables.  

 (c) List any two observations which posed a challenge to Mandelẽev’s periodic 

law. 
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 –  
Section – B 

 

22.                  
             ?     2 
In a school laboratory the students are studying the properties of ethanoic acid 
through certain experiments. How can they test its acidic nature ? Give two tests. 

 

23.             2 
Draw diagrams showing reproduction in yeast in proper sequence. 

 

24.        –  

 (0-1A),  (0-3V), 20   , ,  , 3V    
7               (I)   
      (V)          
     2

You have following material : 

 An ammeter (0-1A), a voltmeter (0-3V), a resistor of 20 , a key, a rheostat, a battery 
of 3 V and seven connecting wires.  

 Using this material draw a labelled circuit diagram to study the dependence of 
potential difference (V) across a resistor on the current (I) passing through it. 

 

25.                  
                 i    

40º  50º  ,     e  r       ?  2 

 
15 cm         25 cm         
            4 cm ,     
   
While tracing the path of a ray of light passing through a reactangular glass slab a 
student tabulated his observations. If in his experiment for two readings he takes two 
values of i as 40 º and 50º, what should be the correct values of e and r in each 
case ? 

OR 

 Draw a labelled ray diagram for the formation of image by a convex lens of focal 
length 15 cm when the object is placed at a distance of 25 cm from the lens. 
Determine the size of the image formed, if size of the object is 4 cm. 
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26.                 

     2 

Draw a labelled diagram of the experimental set up for the study of liberation of 

carbon dioxide gas during respiration. 

 

27.      “            

 ”                    

           ?         

    ?  2 

In the laboratory of a school, the sample of hard water is not available “to study the 

comparative cleaning capacity of a sample of soap in soft and hard water”. Which salt 

from the laboratory can be added to tap water to make it hard ? In the experiment 

how is cleaning capacity of soap compared ?  

____________ 




